
  

cilindre de radi r=0,5cm
P1=1atm

T 1=18ºC=291K
h1=17,5cm

P2=?
T 2=407ºC=680 K

h2=4cm

P1⋅V 1

T 1
=
P2⋅V 2

T 2

Utilitzem la llei dels gasos

P1⋅V 1

T 1
=
P2⋅V 2

T 2
→ P1⋅V 1⋅T 2=P 2⋅V 2⋅T 1 → P 2=

P1⋅V 1⋅T 2
V 2⋅T 1

=1atm⋅13,75cm
3⋅680 K

3,14cm3⋅291K
=10,2 atm

V 1=π⋅r2⋅h1=13,75cm
3

V 2=π⋅r 2⋅h2=3,14 cm
3

Com fer el problema sense la dada del diàmetre del cilindre

P2=
P1⋅V 1⋅T 2
V 2⋅T 1

=
P 1⋅π⋅r

2⋅h1⋅T 2
π⋅r2⋅h2⋅T 1

=
P1⋅h1⋅T 2
h2⋅T 1

=1atm⋅17,5cm⋅680 K
4 cm⋅291K

=10,2 atm
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